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TR wEien W& n S B H g
1 atferas e Bl §

EOR (2) 2n?

(3) n+/ (4) m+1y

frefafae § | 99 @ w5 e ol

& fore wdt i & 7

(1) s fem Fete | TR i TS
Y ST T B § |

(2) Toepe o qeeng & W srarefa A

. Tz forot we) e & A w €

(3) ¥urs feroll & wewwr, Feie feeor

it % goteRiel % 9= e Suia
g =t wpla W e € 1

(4) s fwol & SRR w0 ek § |

! = 4 % T peT FETeRt 1 WA B

(1) 4 2) 5

3) 7 4) 9
=120a1@fﬁr—q'$rw1=ramﬁwnﬁ%

forg aRar & g |y 7

(1) WA IRAR

(2) §RE a1 9Rg

(3) IFE ™

(4) &R U

5 BT YIS SIET0T T WEl R

(1) P<Si<Be<Mg<Na
(2) P <Si<Mg<Na<Be
(3) Na<Mg<Be<Si<P
(4) P<Si<Na<Be<Mg

frefafEg 4 ¥ B9 9 wee H HUA e
TE BT §

(1) p % (2) dz-eTeh

(3) p,PEE (4) 1s-F%TH

_The maximum number of electrons in

the shell with principal quantum
number n is equal to

(1) n? (2) 2n?

(3) n+! (4) @+

Which of the following statements is

incorrect for Cathode rays ? -

(1) The Cathode rays start from
cathode and move towards the
anode.

" (2) In the absence of electrlcal or

magnetic field, these rays travel in
straight lines.

(3) The characteristics of cathode
rays depend on the material of
electrodes and the nature of the
gas present in the cathode ray
tube.

(4) Cathode rays consist of negatively
charged particles.

The total number of orbitals for / = 4
will be

(1) 4 (2) 5

(3y 7 4) 9

The element Z = 120 would be placed
in which family of periodic table ?

(1) Halogen family

(2) Alkaline earth metals

(3) Noble gases

(4) Alkali metals

The correct order of increasing
metallic character is
(1) P<Si<Be<Mg<Na

(2) P<Si<Mg<Na<Be"

(3) Na<Mg<Be<Si<P
(4) P<Si<Na<Be<Mg

Which of the following orbitals does not
have angular node ?

(1) p, - orbital
(3) Py - orbital

(2) dz? -orbital
(4) 1s- orbital
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12.

13.

05

el faeeR § TE W CoCly4NH,,
it & AgNO, % T/ U HieT AgCl =1

e T ¥, O R B fdiaew deiRar
T 2

O (2) 4

3y 5 4 o

Nb & o et | e

(1) 4d%, 5s! (2) 4d, 55°

(3) 4d3, 5s2 (4) 44, 5s°

STl forera o BT s % e
et s Mo wite, Al gEeE W

FHIH 25 ¢ |
(1) 47 BM (2) 5G+1) BM

(3) Y5(5+2)BM (4) /s BM

frofofga & @ ®F W AFe SEE
ForerEel WSS el B ¢ 7

(1) [P(NH,),CL]

(2) [Ni(CO),]

(3) [Co(NH;);(NO,)s]

(4) [CoCly(en),}

frfefea o & few g0 # @ %9 @I
&?

(1) N,, Cl, (2) 0%, F,

(3) NO*, CO (4) 0O, N,

As T Si H 37afieT e &

(1) n-WEHR HT SEAAE

(2) p-YER I IHACTH

(3) TR STE=ETH

(4) IR | J B &

Tb & =TT sk faarg &

(1) 4, 652 (2) 47, 5d!, 652
(3) 4f, 652 @) 4114, 652

10.

11.

12.

13.

In aqueous solution 1 mole of

- CoCl;-4NH; gives 1 molé of AgCl

precipitate with excess AgNO,, then
what is the secondary valency of metal ?
1y 3 (2) 4
(3 3 (4) 6

The outer electronic configuration of
Nb is )
(1) 4d*, 5s!
(3) 4d3, 5s?

(2) 4d5, 550
(4) 4d>, 5s?

Calculate the magnetic moment of
divalent ion in aqueous solution, if its
atomic number is 25.

(1) \7BM (2) GG+ 1)BM
(3) 5(5+2)BM (4) +5BM

Which of the following complexes
does not show geometric.isomerism ?

- (1) [PHNH,),CL]

(2) [Ni(CO),]
(3) [Co(NH;);(NO,),]
(4) [CoCly(en),}

Which of the following pﬁir has same
bond order ?

(1) N,,Cl,
(3) NO*, CO

(2) O3F,

Doping of As with Si is called
(1) n-type semi-conductor
(2) p-type semi-conductor
(3) intrinsic semi-conductor
(4) None of the above

The outer electronic configuration of
Tb is

(1) 49 6s?
(3) 4f7, 6s2

(2) 4f7, 5d", 652
(4) 4f'4, 652
(u]
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16.
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19.

ffafad frg aFae ® 4 fa=ma ¥ 7

(1) La®*
(3) Yb3*

(2) cett
(4) Yb*

Tepsarey forer arg o ~ 95%@?#1%:@3%-
B9

(H W’UT%TIQ
(2) w=HEE U
(3) thefae U

(4) &R 7T A

ffafeag & & =9 W T +7
HToRATEERTY STET TEIETe e § 2

(1) Th (2) Pa

(3) U (4) Np

Fafafee & @ =9 W @@ w=a

HTRIRR & 7

(1) Ce**

(2) Eu?*

(3) Yb** _
(4) 1 Ce**, Eu?*, Yb2*

Tt atfafmar r o Fem &

o = K[A] [B]?

[A] 3% [B] &t & T w1 W sl
BT BT AT AT AT =G 2

(1) 2

(2) 4

(3) 8

(4 16

Fretffian & & F9 o T I R R

stwfsraretl % fere wet =8t & 9
(1) M[R] TE t % &I T @1 IETE 3 |
(2) [R] TS t % HeF A TG 3@ & |

(3) Kt=[R],~[R]
[R]y

@ v=F

14,

15.

16.

17.

18.

19.

Which of the following lanthanoid ion
has f'4 configuration ?

(1) La’* (2) Cce**

(3) YB3t 4) Yb*

Mischmetal alloy consists of ~ 95% of
which metal 7

(1) Transition metal

(2) Lanthanoid metal
(3) Actinoid metal

(4) Alkaline earth metal

Which of the following elements

- shows +7 oxidation state ?

(1) Th
(3) U

(2) Pa
(4} Np

Which of the following ions is strong
oxidant 7

(1) Ce**
(2) Eu?*
(3) Yb
(4) All of Ce*", Eu?*, Y2t

The rate law for a reaction is
rate = K[A] [B]?
on doubling [A] and [B], the rate of

the reaction shall increase by a factor
of

(1) 2

(2) 4
(3) 8
(4) 16

Which of the following statements is
not correct for zero order reactions 7

(1) Mm[R] vs tis straight line plot.
(2) [R] vs tis straight line plot,

() Kt=[R],—[R]
IRl
(4) t,="
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20.

21,

22,

23,

24,

25.

0s

(3) MoTWI W

e i = o &, 99.9% s

' {ﬁﬁ#ﬁmwm(t%)ﬁ_ﬁﬁw

TR E ?

(1) 277 (2) ST

(3) 7T 4) 107
frfofea § ¥ 9 |1 BUF [@Egivo %
T st i 5 2 '

(1) TE ST &

) ?ﬁa&mma%@aﬂaﬁra?ﬂ
|

(3) i % faw B A T

e |
(4) T% e yFfka e e |

[Co(NH,),C/1S0, T [Co(NH,);80,]C/
e R §

(1) G FeTaga

(2) o FEEEE

(3) SU-GeddST YaEget

(4) st TeEat

O/W T % T T uRrH! wHeE
(1) B

(2) o ST % teplerd

(3) WIHfa® T Heelttd WA

(4) o At S AR HRgS % A=l

frefafag § € =9 € g0 @ d8nEs
WHa F HRO AN T TAR Tl
g g ?

(1) Zr T Hf (2) NbTH Ta

(4) YU Pt

afr 25 °c W, fedt g % 200 T
RS I ITH joems § e S

5><10—33°f?ﬁm‘%‘—lfrﬁwﬁmﬂ'ﬁ%
(1) 4x10°2”  (2) L.0=W,
(3) 2.5%x 10° 2 (4) 2x10*eR

20.

21.

22,

23.

24.

23.

In a first order reactidn, the time
required for completion of 99.9% is
how many times of haif-life (t,,) of the

reaction 7
(1) 2times (2) . 5 times
(3) 7 times (4) 10 times

Which of the following statement is
incorrect for chemisorption ?

(1) ltisirreversible.
(2) Enthalpy of adsorption is high.

(3) Low temperature favours
adsorption.

(4) Tt is highly specific in nature.

[Co(NH,),C/] SO, and [Co(NH,);SO,] C/
are :
(1) ionisation isomers.

"~ (2) linkage isomers.

(3) co-ordination isomers.
(4) geometrical isomers.

The principal emulsifying agent for
O/W emulsions 1s/are '

(1) Lamp black

(2) Long chain alcohols

(3) Natural and synthetic soaps

(4) Heavy metal salts of fatty acids

Which of the following pairs does not
have nearly same size due to
lanthanide contraction ?

(1) Zrand Hf (2) Nband Ta
(3) Moand W . (4) Y and Pt

If at 25 °C, at a vapour pressure of
200 Torr of a gas its mole fraction 1n

solution is 5 X 1073, then its Henry’s
law constant is .
(1) 4x10°Torr (2) 1.0 Torr

(3) 2.5 105 Torr (4) 2% 104 Torr
o




26‘

27.

28,

29.

30.

31.

32.

seifefad & i @ rEEr R 99 W)
i wEi e ?

(1) HHE viawe

(2) e afer

(3) Hiewar

(4) TicTerer

TGUSHAE S O @HEAd %
ToReer % saem &1 79 & T

(1) 60 °C (2) 78°C

(3) 88°C 4y 101 °C

KCI % 50% fadem & fAv < 8% 51
iH U

() 1. () 2

(3) 1.5 (4) 1.25
BRI i K, PR E
(1) K mol”! (2) kg mol™!

(3) Kkgmol (4) Kkgmol™!
YT, Sgetl Ud 3= gequiedl & Hier
SAM T A &l yaferd fafy &

(1) AR g '

(2) FALHIE B TG
(3) TSI HI AR T
(4) feais =1 eI

10 atm T & Foredl 3TRE A9 % 8 foien,
TaaE w9 @ feld § 99 a% uaika e
€, 5T T SHH B 3T 10 e T @
ST | 39 WEROT & fopaen i e st & 2

(1) 80 L atm (2) 10L atm

(3) 8L atm 4) 0

frforfam afirfimer & dgid wfedT sarT
AL I

(1) Sgaie | (2) FEIT |

(3) WHETAE! (4) 0

26.

27.

28.

29.

30.

31.

32.

(3) K kg mol

“Predict the

Which of the following concentration

units depends on temperature ?

(1) Mass percentage
(2) Mole fraction
(3) Molarity

(4) Molality-

‘At atmospheric pressure ethanol H,O

azeotrope boils at about
(1) 60°C (2) 78°C
(3) 88°C. (4) 101°C

Van’t Hoff factor 1 for 50% dissociation
of KC/ is
(1) 1
3) 1.5

2
4y 1.25

The unit of eryoscopic constant K, is

(1) K mol! (2) kgmol™!
(4) Kkgmol™!

The method widely used to determine

molar masses of proteins, polymers

and macromolecules is '

(1} Osmotic pressure

(2) Elevation of boiling point

(3) Relative lowering of vapour
pressure

(4) Depression of freezing point

Two litres of an ideal gas at a pressure

of 10 atm.- expands isothermally into

vacuum until its total volume is 10
litres. How much work is done in
expansion ?

(1) 80 L atm
(3) 8L atm

(2) 10L atm

4) 0
entropy change in
following reactions :

H2(g}—)2H{g)
(1) Increases (2} Decreases
(3) Remains same (4) 0

0s



33.

34,

35.

36.

37.

38.
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frfafea Sudier & F. 3 oot or
EDR

(1) SSTER
(3) =M

Q) T
(4) W&

qgfsAE o9 T 27 °C W T A 5 5
17 ¥ uRtafaa 8 9 e 30 kol &
A T URE 5 T I | -
(1) 0.1 JK~!mol™!

(2) 100 JK~" mol™!

(3) 100 kJ K~! mol™

4@ 999 JK' mol™t

Mmqﬁmwmw{mﬁﬁﬁm
By
(1) AG<0

(3) AG>0

(2) AG=0
(4) AG =1

v difcan Ui > welw ferE w5

Terger-erasre fobar =N & a9 Feieied

T i wieiier S T e B 6 7

(1) €O,
(3) H,

(2) CH,—CH,
(4) CH,CO0~

TR -
Cr,04

10-20 atm
FAT
(1) CH,
(3) C.H;OH

(2) C,H,COOH
(#) CeH,

fefafaa fa Gemi o Siisti-T oTqHed
J DT e - 2- 37 WK B § 7

(1) 2-=F

@) 1-5ggm

(3) 2-uiuEmd

(4) 2,3-TEAte-2-=EH

33.

34.

335.

36.

37.

38.

Which of the following parameter is
an extensive property ?

(1) Heat capacity {2) Density
(3) Temperature (4) Pressure

At atmospheric pressure and 27 °C, when
1 mole of a liquid changes to vapour, its
enthalpy change is 30 kJmol™'. Calculate
the entropy change

(1) 0.1 JK 'mol™!
(2) 100 JK "mol™!
(3) 100 kI K~"mol"!
(4) 999 JK~"mol ™}

At constant pressure and temperature
the process is spontaneous when

(1) AG<0 (2) AG=0
(3) AG>0 (4) AG =~ 1

Which of the following species is
liberated at cathode, when aqueous

solution of sodium acetate is
electrolysed ?
(1) CO, (2) CH,-CH,4
(3) H, (49) CH,COO~
In the reaction :

Cr203
CH3(CH2)4CH3——W-) A

10-20 atm
Ais , '
(1) CH,, (2) CH,COOH
(3) CH,OH (4) CHy

Ozonolysis of which of the following
alkenes gives methanal and propan-2-
one ?

{1) 2-Butene

(2) 1-Butene

- (3) 2-Methylpropene

(4) 2,3-dimethyl-2-butene




39,

40.

@ e Preea A @

afiferarsiierar & wel wE & -
(1) CHyCH,CH,CH, Br<
(CH,),CHCH,Br <
Br_
(CH3);C ~ Br

(2) (CH,),C - Br < CH, — CH,CH,CH, Br
< CHyCH, — CH - CH, <
| Br
(CH;),CHCH,Br

(3) CH,CH,CH,CH,Br >
(CH,),CH — CH,Br >
CH,CH, (IZH - CH; >

Br
(CH3)3C ~Br

(4) CH;-CH, - CI'H —CH; >
Br
(CH,),CH — CH,Br >
(CH;),C - Br >
CH,CH,CH,CH,Br

Ffrfsrar
CH,CH,CH, ~ CH ~ CH,
: Br -
—v—-> T & 3K &
KOH

(1) CH, - CH, ~ CH, — CH — CH,
OH
(2) CHy~CH,- CH,~- CH = CH,
(3) CH, - CH, - CH, - CH, - CH, - OH
(4) CH,-CH,- CH=CH - CH,

39.

40.

The correct order of reactivity of
following compounds in Sx? reaction is
(1) CH,CH,CH,CH, Br<
(CH,),CHCH,Br <
CH; ~ CH, ~ CH- CH, <
- Br
- (CH,),C-Br

~ (2) (CH,);C—Br<CH,—CH,CH,CH, Br

Br
(CH,),CHCH,Br

(3) CH,CH,CH,CH,Br >
(CH,),CH — CH,Br >
Br

Br
(CH,),CH - CH,Br >
CH,CH,CH,CH,Br

The major product of the reaction
CH,CH,CH, - (T“H - CH,

Br
Alcoholic
. W 18
(1) CH,;~CH,-CH,- ?H - CH,
OH

(2) CH,-CH,-CH,-CH=CH,
(3) CH;—CH,-CH,—CH,-CH,-OH
(4) CH;-CH,-CH=CH-CH,
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42.

43,

44.

as

SAfafsra

cH,
@/ CrOCly
_—
C5,

CHO
OB
6 Waﬁqﬁ%m

(2) TEHH-HE HMEHIT
(3) TS ARATHAT
(4) HVZ 3Iisear

SAtafsRar

CH,CHO + CH,CH,CHO () NaOH 5
i) A

RSP e F

(1) =-2-8

(2) 2-Afe Fge2-33e

(3) 2-3fe =33

4) F=-24

Pretforfaa Al & @B S sfrmrs

3 T -5 TR T A 2

(1) C H,CHO

(2) HCHO

(3) CH,CHO

(4) CH,CH,CH,CH,CHO

fefefgs § & 99 @ IEewm
FAffenan T2 3w ?
(1) CHy~CH, - C~CH, - CH,
O
2) CH3—?H—CH3
OH .
(3) CHy-C-CH,

AN
4) C—C\ |
3 ﬁ'CHs

O

41.

42.

| 43.

44.

" The Reaction :

CH, ~_~CHO
@/ CrO,Cl, @/ |
—
Cs,

(1) Gattermann reaction
(2) Gattermann-Koch reaction
(3) Etard reaction

. (4) HVZreaction

In the reaction :
CH,CHO + CH,CH,CHO () NaOH

_ (ii) A
product which is not obtained is
{1y But-2-enal
(2) 2-Methyl but-2-enal
(3) 2-methyl pent-3-enal
(4) Pent-2-enal

Which of the following compounds
does not give red brown -precipitate
with Fehling reagent ?

(1) C,HCHO

(2) HCHO

(3) CH,CHO

(4) CH,CH,CH,CH,CHO

Which of the following does not give
iodoform reaction ?

(1) CH,-CH,- C - CH, - CH;
0
(2) CH;-CH-CH,
OH
(3) CH,-C-CH,
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46.

47.

48.

49,

aAfiyisra -
RCH,COOH (i) X, / ¥ e
(i) H,0
R— (IZH — COOH gt &
X
(1) MPV Huwg amfsear
(2) TSR arfiafmar
(3) towE aAfafwar
(4) fTofer afufea

HCN & @I 4 o¢ ®mEiter afies s
Iretyss stifsharsier &
(1) CHy - € —CH,
o)
(2) CH, - CH, -~ CHO
(3) CH; - CHO
(4) HCHO

Preforfan & @ = ar 2 S =

LY
rd

(4) /N\

H
TIEFEE e W Seafd W ufwr
TRfeeh 3t Trefeiiae s wifa b s
¢
(1) = (2) IR
(3) w@T (4) SO
I % T e § Wi
AT

(1) aeft BT T sp? HWeHRa § |
(2) | T R sp? FHRA ¥ |
(3) T T W] sp® WpRE & |
(4) T e WA sp? HHA ¢ |

10

45.

46.

47.

48.

49.

RCH,COOH
(1} X,/Red phosphorus\
(i) H,0 -
R~ (iZH — COOH is known as
X
(1) MPV reduction reaction.
(2) Hell-Volhard-Zelinsky reaction

(3) Haloform reaction
(4) Wittig reaction

The carbonyl compound which is most
reactive when HCN adds

) CH3~(”3—CH3

0
(2) CH,-CH,-CHO
(3) CH,-CHO
(4) HCHO

‘Which of the following compounds is

not aromatic ?

In the process of generation of

" nitronium ion the nitric acid serves as

(1) Acid " (2) Base
(3) Salt (4) Catalyst

In  electrophilic  substitution of
benzene, the arenium ion has

(1) all sp? hybridised carbon atoms.
{2) all sp? hybridised carbon atoms.
(3) one sp? hybridised carbon atoms.
(4) one sp? hybridised carbon atoms.
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51.

52,

53.

54.

53.
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W TR A= ST Cl, A R
afirfsran @ N = 9§

(1) TR T Sk

(2) aT SfuisHa _

(3) TiEreE wiawme sfatear

(4) e stffsean

ORI Y S ST 9§ Stk g e
AT

(1) dvemiH o=
(2) AR s
(3) ToLHIE STHT
(4) n-eFEdT

forg forafim &t A1 @ RBC &l JAaRT=
¥ afig o wiw-Afewl Bt FER FeR € 2
(1) feafK (2) o TE

(3) T B, (4) ToiH B,

fofafes & @ ®9 @ SEvEs oA
A FEE?
(1) e

(3) T

(2) wEH
(4) wmed=

DNA 0] & ¥kt 3mefer 375 &
(1) B-D-HRITAE

(2) B-D-TeEHEH

(3) B-DE=E

(4) PB-D-2-fevirrRiRTEEE

Wl & B q G UHE ol %

fafvme w0 @ dafem & 2
(1) wmafaes ST
(2) fadre d=T
(3) g ST
(4) FqF HT
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50.

51.

52.

53.

54.

55.

Under ultraviolet light, the reaction of
benzene and CI, molecule produce

gammaxane is

(1) Electrophilic substitution reaction.
(2) Addition reaction.

(3) Nucleophilic substitution reaction.
(4) Oxidation reaction.

Glucose on reaction with bromine
water gives

M)
2)
(3)
Q)

Pentabromo derivative
Saccharic acid
Gluconic acid
n-hexane

Deficiency of which vitamin causes
increased fragility of RBCs and.
muscular weakness ?

(1) Vitamin K (2) Vitamin E
(3) VitaminB, (4) VitaminB,

Which of the follbwing is not an
essential amino acid ?

(1} Valine (2) Leucine
(3) Alanine (4) Lysine

The sugar moiety present in DNA
molecule is

(1) B-D-fructofuranose
(2) B-D-glucopyranose
(3) P-D-ribose

(4) B-D-2-deoxyribose

Which structure of protein is related to
specific sequence of amino acids ?

(1) Primary structure:

(2) Secondary structure
(3) Tertiary structure

(4) Quarternary structure
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57.

58.

59.

sﬁagmﬁa‘mﬁm%fﬁaﬁﬁ@a?ﬁm
TR Wl T 2

[ﬁm%)w—)

NN s

Dty toz = ¥
— 472
kZ

8mm

Z(E_ wW=0

(2) VY - ¥
(3) V¥ -

4mPmiv2

4) V¥ + 2 V=0

Tpfefaa o @ i @ Tor sife R @l
AT & & & [0 Wt ARt & ¢

(1) W wae g1 =fey |

(2) ¥ ardfhe g efew

(3) W o i A B =l 1

+ na

4) f P2 dx dy dz = 1

- g

T e o Pl Giwdre §
T g B € a9 o fee feife F e
fera wiaesor 67 <ad & 2 :
(1) forgareita feerfer

(2) wmim IR fefg

- (3) Il ae R

@) Hxd
Fefwfas & @ 2s. 2p, T 2p
quﬁhm%awwq‘raawhﬁ

TS I | sp? T FoTF Tl -6l & 2
2

% ‘PZI)
1 1
2 —
(2) ‘Psp \B\P')q"',\/'ﬁ‘ \Pap‘ \/5 2]‘y
' 1
R x/B n Y Yo
(4) Wep?= \/—‘Paﬁ\/g Zp‘

1
(1) ‘Psp2~=\_/-§q’2§—-

12

56.

57.

58.

59,

Which of the following equation is -

incorrect for an electron moving in
three directions x, y and z ?

o _ b
(glven that A, = mv)

PY Y ¥  —4n?
R A N VR
—4g2
() V=-S5
(3) VQ‘I‘—%H']'(E—V)‘P=O
an’m?v?
@) v+ 1‘1’;“' ¥=o

‘Which of the following properties is

incorrect for the solutions to the
Schrodinger wave equation ?

(1) ¥ must be continuous

(2) ¥ must be finite

(3) ¥ must have three values
+ o

4) f W2 drdydz=1

As a general rule, if lone pairs occur in
trigonal bipyramid they will be located
in  which position to minimize
repulsive forces ?

(1) Equatorial position

(2) Apical top position

(3) Apical bottom position -

(4) At the centre

Which of the followmg hybnd sp?
orbital obtained is incorrect after
combining the wave functions of the

2s, 2p, and 2p,, atomic orbitals ?

. 1 -2
: (1) \{Jsp2:$\}125_% lPpr

2 1 1 1

(2) 'I‘Sp \/3‘1’254'.\/{—5 "Psz'l'\/i lP2py
1 1 1

(3) TSPZ:T\{J25+% ‘{’zpl —@ lP:Zpy

(4 \PSp \/— ‘\[.6- Zp‘

05
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waﬁa@%m@ﬁmﬁaaﬁﬁ?ﬁ%o
(1) cagr g

(2) naar @

(3 TEHgE Y

- (4) Wt o wE o 54 OF Wb g
Ferforfaa & @ =9 o gafe ¥ 9

Wity Al g HA

(1) Noj @ 1.33 -
) co, Em 1.5
(3) N; V- &R 2
@ o, v-asmgwm 15
WWW%WWW
sia e e

(1) Tl Bt ot i iRy |
(2) HepaAT = T

(3) Hepell T ool W |
(4) AHR F T DI 07 B IR |

] ARF F d° P B S g

-'Wwﬁmmw

Fotl AT AT §
(1) -0.4 (2) - 06

C4) 12

Te6 50 §¥ ¢ 31T o1 Wy ¢

(1) BeT8E T > O M > N el >
C T

RS AT < O TRl < N @ <
C I -

O TEl < §ES T < C MM <
N &F |
O T > FoUES T > C Ty >
N e

2)

(3)

)
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60.

61.

62,

63.

64.

v

(3 -08

The shape of the molecule is not
determined by

(1) obonds

(2) wbonds
(3) lone pairs
(4) All of ¢ and 7t bond and lone pairs.

Which of the following is correctly
matched ?

Species Shape Bond order
(1) NO; Linear 1.33
(2) €O, Linear 1.5
(3) Nj V —shaped 2
#) 0, V-shaped 1.5

The valence bond theory for transition
metal complexes explains :

(1) Shape and stability of complexes.
Colour of the complexes.

&)
4)

Electronic spectra of the complexes.

Variation of magnetic property
with temperature.

The crystal field stabilisation energy in
terms of A, for d® configuration of

metal ion in high spin octahedral

complex is
(1) -0.4 - (2) -06

@ -12

A pattern of increasing ¢ donors is

(1) halide donors > O donors > N
donors > C donors

halide donors < O donors < N
- donors < C donors

O donors < halide donors < C
donors < N donors

O donors > halide donors > C
donors > N donors

2

3

(4)
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60.

67.

68.

69,

70,

frfefian fha ®R& W Ay w1 IREw

ik et g ?

(1) Tomei =t vk

(2) o 3 T faeme e

(3) °/q # wm, fdim swEr gde
weruor Son o feafa

(4) w1, 2w 3 miRe

Wﬂ@%ﬁﬂﬁ@ﬁﬁw

FRA &

(1) d-SoRIT ol WA e
(2) eg-mwmnﬁam
(3) tzg-wﬁmmﬁﬁwa

4) tzg-ﬁaﬁ‘f T AT W

ILFAHE UPeT b d° FEA H yEA
ferree: & ¥ srempor T e BT §
(1) 4.9 BM (2) 0BM

3) 1.73BM  (4) 2.83BM

AoEEl § T AameE S SR Wi
ANEA L Y T 9 Sied W AT 9
TG J AT Bl & 1 R Y § B W
MR T T QT T2
(1) J=L-8 (2) J=S-L

(3) J=L+S§ (4) 1=LS

1 A9 I Eudt @ geeh YUl (BM)
frefefiad & | fhgss afa & 2

(1 o @21

(3 2 4) 3

ce’t & Yb3t, UV 83 ® Heer Staenyer
=i w4 § | Feafaied § | Wi @
100 TS Fore e e &2

(1) 4f @ 54 W HshHOT &I T |

(2) Al=1

(3) & SRE b svtctgl—u & IVEET T |

A g d FHeA €
(4) f-d forer fasga e |
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65.

66.

67.

68.

69.

70.

The magnitude of A; depends on

which of the following factors ?

(1) The nature of the ligands.

(2) The charge on the metal ion.

(3) Whether the metal is in the first,
second or third row of transition
elements. -

(4) Dependsonall 1,2 and 3.

Significant distortion of the octahedral

shape is caused by

(1) symmetrical
d-electrons.

(2) - asymmetric filling of the e orbitals.

(3) asymmetric filling of ~the t2g

4)

arrangements  of

orbitals.
symmetric filling of the t2g orbitals.

The spin only magnetic moment in
strong ligand field of d® ion of
octahedral complex is

(1) 49BM (2) 0BM
(3) 1.73 BM (4) 283 BM
In - the lanthanides, the spin

contribution S and orbital contribution
L couple together to give new
quantum number J. Which of the
following relation is correct when shell
is less than half full 7~

(1) J=L-8 (2) J1=8-L

(3) I=L+8 4 J=LS

At low temperature, the magnetic
moment (BM) of Eu** is close to
which of the following ?
() O ) 1
(3) 2 4) 3

Ce** and Yb3* show strong absorption

in UV region. Which of the following

reasons is not correct ?

(1) transition occurs from 4f to 5d.

(2) Al=1.

(3) promotion of electrons in these ions
is difficult than for other ions.

(4) f-d peaks are broad. '

05
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A

[Ce(NO,)J>~ | Ce i IugeHdlS W&l

3
(1) 4
(3) 10

.(2) 6
(4 12

Mg[Th(NO,),] %t hl 3TTHfd &
(1) I=FEDY

(2) TR

(3) Torercrerent

(4) = ufafrss

FRfs faeme § @ fRE emER W
B-SE®EH WHFH nmr WM W
wRAEe g (W) st % w9 W
TR B & 2
(1) Ce**

3) G&*

) Pt
4) Lu?*

T=H T W BIERA W dw ST W
Iog fauea o Fam &

(1) V=k

(2) V =k [PH,]
(3) V=k [PH;] [W]
(4) V=k [PH,]?

uF YRR Sl : 24 > IR
% 3 fora o1 WEmB €9 8

|

1
§)) m—m=kt

(2) [A]=[A]e™

@) I [{Aé]ﬂ — It

@) [A], = [ale
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71,

72.

73.

74.

75.

The co-ordination number.of Ce in
[Ce(NO3)6]2‘ is '

() 4 2) 6
(3) 10 4) 12
The shape of the complex’

Mg[Th(NO,),] is
(1) Octahedral
(2) Trigonal

(3) Icosahedral

(4) Square antiprism

f3-Diketone complex of which of the
following ions dissolved in organic
solvent is used as lanthanide shift
reagent in nmr spectroscopy ?

(1) Cett (2) Pt
(3) Ga** (4) Lud*
The catalytic decomposition of

phosphine on hot tungsten at high
pressure has the rate law

1) V=k

(2) V=Kk[PH,]

(3) V=k[PH,] [W]

(4) V=k[PH,]?

For an elementary reaction : 2A — products.
The integrated form of rate law is

1 i
(1) m—'['x]'(;':kt

(2) [A]l=[A]ge™

(3) ln'[ﬁl] kt

[Aly) ™~
(@) [A]=[AJe™
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77.
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80.

81.

THH HIEL H BT T
(1) Tt sevaeEa

(2) THFH T

(3) —aH S TEEEehal
(4) a0 ool

suifefan wrt § e AMe TieR
ForarT ot vt e € 9

(1) ¢ @

(2) C (U%RET)

(3) H, (W)

(4) Br, (39)

3 G K = PAeEYRT § SR P &

(1) ¥eRg aghd
() Bfaw srR=
(3) I=

(4) IE TEA

0.25 W&A K,50, Toae@ ®f e
urred &

(1) 0.25 (2) 0.50
(3) 0.75 4 1.0
SRR WHIHT

. 20% 10°
ATH=}‘;_{(D§2)]?ZH+8(2§T)1}S lr?l}\,(_:
% Hieh § wH SR fgedia w5 e mw E
(1) srmfhfa wg iR S, Fo d@ue

B |
(2) R A FT HHET T AT
(3) T HOI FAEH WUE AR srmtafa

YA
(4) aﬁ‘rmﬁqﬁrm%m

i ek frue gast A
W%leogﬁaﬁ\/ﬁﬁ?ﬁﬁ

STeET § U @1 W 2T @
(1) 0.509 (2) 3x0.3509
(3) 4x0509  (4) 2x0.509

-
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76.

77.

78.

79.

80.

81.

The aspect of successful collision is
(1) Steric requirement

(2) Encounter rate

(3) Minimum energy requirement
(4) Al of the above

Standard molar enthalpy of formation
of which of the following substances is
not zero 7 '

(1) C (diamond)

(2) C (graphite)

(3) H,(gas)

(4) Br, (liquid)

The factor P in rate equation :
K =PAeEaRT jg

(1) Collision frequency

(2) Steric factor

(3) Pressure

(4) Product concentration

The ionic strength of 0.25 molal
K,S80, solution is
(1) 0.25
(3) 0.75

(2) 0.50
4) 1.0

In the Onsager equation ;
|_824  820x10°

A‘m = l::, - {(DT)I‘Q n + (DT)]’Q }\-:.,]\IE:

the first and second term in the bracket

are respectively the measure of

(1) asymmetry effect

electrophoretic effects.

(2) both for electrophoretic effects.

(3) electrophoretic effect and

asymmetry effect.

both for asymmetry effect.

and

4

By -plotting — log 7y, against @ the
slope of the line for uni-bivalent and
bi-univalent electrolyte will be

(1) 0.509 (2) 3x0.509

(3) 4x0.509 (4) 2x0.509

05
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= hfea Frefefen an feam o aem
Al &

_—‘:hw: k [A] [B]? [C] 58 afufirr o1

3T AR Figare [A], = 0.001 M,
[B], = 0.04 M 3 [C], = 0.04 M & fFamr
Tr | 38 ATlEE B st wife gy

(1) 4 (2). 3
(3) 2 4 1

2x 103 M HC/ faema S pH AR €
(1) 6.0 (2) 3.3

(3) 27 (4) 1.5
ﬁmﬁfaaaﬁ@aaﬁqﬁmaﬁﬁﬁwuw
ghm 2

Fe, o te ==Fe E°=+077V
Zn? (aq)+2e‘#2n(s} °=-076V
(1) 001V (@) 153V

(3) -153V 4) 230V

e Trefefea sfufeaett = ot
Tferd fear m gt
C{S] + Oz(g) - COz(g) AH=-393.5k]

COygy + % Oygy = CO, ) AH=-282.0K]

SAfH 1 AH T SHifeg

Ci ™ 7 Oy = COy AH=7?
(1) -675.5k] () 111.5k)
(3) —111.5k]  (4) 6755k
AG=AH + T (@(@) T

| T J

(1) Fresr-ggm wefiaor

(2) FARM-FASEID GHiH0T
(3) firea-geagives R

(4) REe e

~ AA = W, FHFT § HREH A §
(1) T o o=

(2) SFvElvEs R Sl

(3) sieead™ fedis

(4) ST FRFH

82.
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84.

85.

86.

87.
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A reaction obeyed the rate law ;

~dAL a1 Bp

studled by taking initial concentration of
[A], = 0001 M, [B], = 0.04 M and

{C], = 0.04 M. The apparent order of the
reaction shall be

(1) 4
3) 2

[C], The reaction was

2 3
@ 1

The pH of 2 x 1073 M solution of HC/ is
(1) 6.0 (2) 3.3 '
() 2.7 4) 1.5

What will be the E. oot from followmg
half ¢ell reactions ?
Fe3+(aq) +e ==Fe** @B =7 0.77V
Zn*, t26 =1In, E°=-076V
(1) 001V (2) 153V

3) -153V (4) 230V

' Find the AH of following reaction :

C{s) + % 02{3) - Co{g) AH=?

- The enthalpy changes of followmg

reactions are given _
C(s) + Oz(g) - Coztg) AH=-3935%k]
CO(g) + Y Oz(g) - COz(g) AH=-282.0k]

(1) -675.5KkJ (2) 111.5k]

(3) —-111.5kJ (4) 675.5k]
_ HAG)Y .

AGfﬂH+T( aT )P is

(1) Gibbs-Duhem equation

(2) Clapeyron-Clausius equation
(3) Gibbs-Helmholtz equation
{(4) Kirchoff equation

In the equation :
-AA=W_, the function A is
(1) Gibbs free energy
(2) Helmholtz free energy
(3) Boltzmann constant
(4) Arrhenius function




88.

89.

90.

9.

92.

frfefen & @ w2 @ R W & fag
TORIE weey o derdt uftert 3T ¥ 2

o) @ el
(1) Rin P, (2) Cpln T,

- T2 V?.
(3) Cy [T_J (4) Rin {V_J

25 °C ‘T{'HCIEI%NH40H ¥ oo
! detet Bt
(1) —=5732k]  (2) -51.34Kk
(3) —61.34k]  (4) +57.32kJ
-2 33wt sk
(1) widferedr
(2) svfafeEr Trfem gumEEat
(3) TE-wY
(4) T ¥ HiE &
AR T HY] wWifew 9 9
Tpfeias few Yeaor § arg STE § 2
(1) ataq
(2) Wi
3y ¥
(4) |l SRR AE g
frefefaa @ @ e o= E & 2
H (!
H\C/Cl N
6y T (2) i
C
/
Br/ \Cl - Cl \Br
CH
CH3\ }31' 3\C/H
3) ) ]
A A
H Br ¢
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88.

89,

90.

91.

92.

Which of the following gives entropy
change of an ideal gas for isobaric

process 7 .
Ty
(2) Cphn .T_l

1) Rhi [ij

{1) n P,
T, v,

(3) Cyin T_l (4) Rin VT

The enthalpy of neutralisation of HC/

by NH,OH at 25 °C will be

(1) —57.32k} (2) -51.34k]
(3) —61.34kJ (4) +57.32KJ
The two gauche

conformers of
n-butane are :
{1) enantiomers
(2) diastereomers
(3) meso-form
{4) None of these

Most ethane molecules naturally
exist in which of the following
conformations 7

(1) Eclipsed

(2) Staggered

(3) Skew

(4) All in equal amount

Which of the following has
E-configuration ?

H Cl
H\C/Cl | \¢/
o C @
& |
\ /N
BY CJ cf B
CH, B CH
3\(: ; r 3\(3 /H
(3) I (4) I
PN S
H © B Y

05



93, Frafefan & @ Rew woegaaaREet =)

94,

95.

Qs

THA A & YU § Th-gER ¥ yiafaa
fopar ST 2 2

(1) o=t amags
2) wﬁ?ﬂa'ﬂmaaa
(3) EEIUIE HHEES
(4) sHI safieia Sk SEavi SaEEE

TRFARET & fFediEd fog ded |
meﬂ%mmaﬁa@
g faght & 2
(1) i (2) d i
G) daedm (@) Ha
Afufdpar ‘
H3C/Q +CH20+
0
H,N (CHy,Cr = EtgH A
T AT SO A & -

(2) HiC N(CH3),

o 1l

3 H3C

(4) Hg,C’Q\CHzN(CH 32

CH,NHCH;
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93.

94.

95.

Which of the following isomers is/are
inter-converted by rotation about
single bond ?

(1)
(2)
3y
(4)

Configurational isomers
Geometric isomers
Conformational isomers

Both geometric and conformational
isomers

Which of the following conformer of
cyclohexane has highest energy barrier
with high angle and torsional strain ?

(1} Chair (2) Half chair
(3) Twist boat (4) Boat
In the reaction ;
H3C'Q +CH0 +
I ,

&
H,N (CH,),CI- —E-t%{» A

The major product A is

0

2) Hsc’Q\N(CHs)z
0

3) H3C’§\CH2NHCH3
0

() H3C’Q\CH2N(CH3)2
0




O

96. + BrCH,COOCH,

(1) Zn A H,50, B(1) Se/A

y C

(2) H;0" A (2 HO
SR st d SR C ¥

CH,COOH

CH,COOCH,

()

OH
g

IR aﬁqm, Ffertan ﬁ ¥ B
C e T sET € 2

| (1) R sfafean

(2) UoSer T

(3) uiRT SAfafwar

(4) =& gg

_KOH,&
TCHO

98, frfeifEm § & B T K SRR &

Tdifew TTREgRT % WY difean e
&I gufeeia § e & T @ 8 2

(1) |5

(2) TEIEH A

(3) wfeTfHiaE o

(4w
o
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96.

97.

98.

+ BrCH,COOCH,

) Zn , HSO, () Se/A
(2) H,0" A @ HO

The product C in the above reaction is

s C

3k

(1)
CH,COOH

KOH, A
—_—
~H,0

AL

CH;

ool

~ The above reaction is an application of

which of the following reaction ?
(1) Cannizzaro reaction

(2) Aldol condensation

(3) Perkin reaction

(4) Stobbe condensation

Which of the following products is
formed on condensation of furfural
with acetic anhydride in presence of
sodium acetate ?

(1) Furan

{2) Furoic acid

(3} .Furylacrylic acid
(4) Furoin
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g & @ @ @ vl o
FreraTuTe Riafwar & 2

(1) Uesid Fe

(2) Frart afifrar

(3) W AR

(4) Fafer qrforame

: U\cno KCN/EIOH U_E-[:[_E‘U

Iure sTrafskar FATefga # | feeer
ST R 2

(1) Toeier g

(2) s=ite dg A

(3) =R ufirispar

(4) fe=ier erfufsen

U & are g e @ Befafy &
(1) TR AaTH -
(2) TerEEE! Hhme

(3) "RTEEE A

(4) TS wiams

N C,H,OH
2CHsN,HSO; —
Cu 3ot

A + 2N, + 2H,50,

stfafra § s A ©
NH,

Jo)

OH

°Q

- CyHs

@
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99.

100.

101,

102.

Which of the following reactions is a
disproportionation reaction ?

(1) Aldol condensation
(2) Cannizzaro reaction
(3) Mannich reaction

(4) Wittig rearrangement

i ) 1 o KCN/EIOH | U_E:_E@

The above reaction is an application of
which of the following ?

(1) Aldol condensation
(2) Benzoin condensation
(3) Cannizzaro reaction

- (4) Knovengel reaction

‘The mechanism of coupling reaction

of diazonium salt with phenol and
aromatic amine is

(1) Electrophilic addition
(2) Electrophilic subsitution
(3} Nucleophilic addition
(4) Nucleophilic substitution

In the reaction :
. C,H,0H
2CHNHSO,————
4 Cupowder

A+ 2N, + 2H,S0,

The product A in the reaction is
NH,

0 ©

OH

@ @
3)

CoH;

Jo




103.

104.

105.

106.

TR %1 S faer § T yfw
AR aifE FoREs % QY FUHE W
T ST ¥ |

(1) e

2) TSR

(3) USieitT

(4) ST TGl THA

v e deeE H w9 orifn o Sga
USe ORE QRS e 9 sifuheia
e ST ¥ a9 ¥E O § uRefaa &
AT E | 39 eAfufsren & Teyadr €

(1) =g

(2) i HEYARE

(3) T -G

(4) xR

atfifean
CH;
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104.

105.

106.

. The main product of the reduction of

nitrobenzene in neutral solution with
zinc dust and ammonium chloride is

(1) Aniline

{2) Azoxybenzene

(3) Azobenzene

 (4) Phenylhydroxylamine

When an arylhalide is treated with the
very strong basic amide ion in liquid
arfimonia, it is converted into aniline.
The intermediate in the reaction is

(1) Benzyne

{2) Phenyl cation
(3) Phenyl carbanion
(4) Free radical

In the reaction:

_ CH,
N0,
4 NHHS @/ SnClLyHCI o
NO, -

The products A and B, respectively are

{1} 5-nitro-o-toluidine and 3-nitro-p-
toluidine,

(2) 3-nitro-p-toluidine and S5-nitro-o-

- toluidine. _

(3) both 5-nitro-o-toluidine.

(4) both 3-nitro-p-toluidine.

Which of the following is not an
example of step reaction
polymerisation 7

(1) Glyptal

(2) Dacron

(3) Nylon-6,6

(4) Polymethylmethacrylate
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e |
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(1) AReREgH

(2) SRR

3) wmEfe
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(2) ufmfafer
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111.

112.

Which of the following statement is

incorrect - “for co-ordination

polymerisation ? ,

(1) It does not have stereo-chemical
control.

(2) Unbranched polymer is formed.

(3} Polymer has high degree of"
crystallinity.

(4) Polymer has higher density and
higher melting point.

Which of the following is an example
of anti-fertility drug ?

(1) Norethindrone

(2) Bithional

- (3) Iproniazid

(4) Phenelzine

Which of the following is not a broad
spectrum antibiotic ?

(1) Chloramphenicol
(2) Ampicillin
(3) Amoxycillin
(4) Penicillin-G

Which of the following drug acts as
antihistamines ?

(1) Equanil
(3} Serotonin

(2) Valium
(4) Seldane

The point group symmetry of BH; is

1) G, @) G,
(3) Dy, 4y Ty

Which of the following statements is
incorrect for n-butyl lithtum ?

(1) It is hexameric in the solid.
(2) Used as polymerisation catalyst.
(3} Used for alkylation.

(4)' Used for synthesis of vinyl and
allyl lithium.
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113.

114.

1185.

116,

2091 it @I 34Cr ¥ e FE W T
ot 31 W} 7T (super heavy element) &

(I) Unh (2) Uns
(3) Une 4) Ung
wTTER SRReT ot

k
E+S %ES, ES —25P
o TTEH Welede WeheT hl WIS &
kb
k;+k | [F1[S]

(1)
\ké. +akb] (B8]
( X, .
- kb] [E] (5]
(kg

ka + l_‘b] EIB]

@)

(3

(4)

Y@ 9gQ-3UEeY  NaOH, NaCl @R
BaCl, I WWiT WeR Sorhang e
248.1 x 10, 1265 x 109 3R
280 x 104 Sm? mol™! &, ¥ Ba(OH),
= l;, Sm? mol~! &

(1) 401.6x 10

(2) 523.2x 1074

(3) 776.2 x 1074

(4) 654.6 x 107

Frefofes § @ @9 @1 S99 SE-Anad
v ¥ e w8 @ 2

(1) VM U & |

(2) vERH TR T €

(3) Tt T ) o B g v S ¢
(4) A Ty feett % SN 99K S E |
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113.

114,

115.

116.

The super heavy element made by

18

bombarding 28039Bi with accelerated ngr
(1) Unh (2) Uns
(3) Une (4) Ung

In the enzyme-catalyzed mechanism :
ka kb
E+S k‘——réES, ES —HP

the concentration of enzyme substrate
complex is

- kb
M |ig +ka] [E] (S]

[k

—2— | [E
\ka+kb)[ } 18]
[k

a

= kb] (E][S]
va

' k;l ]
ENEE

(2)

3)

4

For the strong electrolytes NaOH, NaC/
and BaCl/, the molar conductances

at infinite dilution are 248.1 x 1074,
126.5x 10 and 280 x 10~ Sm? mol™!

respectively, then ?»:n for Ba(OH), in
Sm2 mol™! is

(1) 401.6x 107

(2) 523.2x10*

(3) 776.2x 107

(4) 654.6% 10°4

Which of the following statements is

not correct for Joule-Thompson’s
experiment 7

(1) Process is adiabatic.

(2) Process is not isenthalpic.

(3) Lower temperature is observed on
~ low pressure side.

(4) The gas expands through a porous

barrier.
05
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117. Which of the following statement is

118,

119,

correct for Sy; mechanism ?

(1) The first step is dissociation into
an intimate ion pair.

(2} In second step the leaving group
attacks from back side. _

(3} There is inversion of

configuration.

(4) An external nucleophile attacks
the substrate.

~Cl :
CE +OR — A
0

The product A is

OR
o (X
_ O
(2) [::>—COOR
Cl
o (X
E—OR

0
(4) O—OR

The thermal cyclisation of trans, trans-
2, 4-hexadiene gives

(1) only trans-3, 4-Dimethyl-cyclo
butene _

(2) Oaly cis-3, 4-Dimethy1-cyclobutene

(3) both the above products in equal
amount

(4) Cyclo-hexene
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121.

122.

123.

124.

(3) Perception

Which of the following statements i

correct for NMR  spectrum of . iso-

propyal bromide ?

(1) Absorption by six methy! protons
appears up field.

(2) Absorption of lone proton appears
upfield.

(3) Absorption of lone proton splits
into quartet.

(4) Absorption of six methy! protons
splits into quartet.

Which type of changes of behaviour is
learning ?

(1) Changes through fatigue

(2) Changes through taking medicine

(3) Changes through Practice and
Experience '

(4) Changes through disease

Which is not the objective of memory
level teaching ?

(1) Training of mental aspect.
(2) To give knowledge of facts.

of meaning and

understanding of thoughts.

(4) Rememorise and Representation
of knowledge.

Who says “Learning 1s the
modification of behaviour through
experience and training” ?

(1) Cronback

(2) Kimble

(3) Skinner

(4) Gates and others

“Who is the author of the book “The

conditions of learning” ?
(1) Ausubel (2) Gagne
(3) Thomndike (4) Skinner
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125.

126.

127.

128.

" (3) Kilpatric

Which is not the task of interactive
phase of teaching ?

(1) Perception
(2) Diagnosis
(3) Selection of learning experiences

(4) Reactive processes

Who says “Adolescence is a period
which a growing person makes
transition from childhood to maturity” ?

(1) Jersield (2) Stanley Hall
(4) Kolesnik

What is the approximate weight of
brain in 15 or 16 years age of
Adolescence period ?

(1) 800 to 1000 gm
(2) 1000 to 1100 gm
(3) 1200 to 1400 gm
(4) 1500 to 1700 gm

Match the following :

I. Trust vs Mistrust a. 1-2yr.
Stage .

II. Autonomy vs Doubt b. 0-1 yr,
Stage '

111, Initiative vs Guilt c. 13-18 yr.

IV.Identity vs Role d. 3-5yr.
conflict :

Codes :

I I v

(1) a b c d

) b c d a

3) b a d c

4 c d a b
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131.

132.

133.

The fifth stage of Kohlberg’s theory of
moral development is known as

(1) Obedience
orientation.

Individualism and exéhange.
Maintaining the social order.

Social
rights.

and  punishment

2)
)
4

confract and individual

According to Havighurst which is not
the  Developmental work  of
Adolescence.

(1) To accept the physical structure of
self and use it effectively.

To accept social responsible
behaviour and achieve it.
To develop healthy
towards self.

To get the emotional freedom
from parents and adults.

@

attitude

3)
*

Which is not the component of
emotional intelligence ?

(1) Emotional perception
(2) Emotional integration
(3) Emotional learning
(4) Emotional management

Out of the following group of
Psychologist which is the completely
correct group related to classical *
cognitive theory ?

(1} (Wertheimer, Bruner, Bandura)

(2) (Wertheimer, Kohler, Tolman)

(3) (Koffka, Ausubel, Bolles}

(4) (Tolman, Bruner, Bandura)

Which - group of  Psychologist
concentrate ~ on - observable and
measurable behaviour ?

(1) Behaviourlist (2) Structuraliét
(3) Functionalist (4) Gestaltist
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134.

135.

136.

137,

138.

139,

In which principle of learning teacher
play their role as facilitator ?

(1) Behaviourlist principle
(2) Constructivist principle
(3) Cognitivist ;Srinciple

(4) Psychoanalyst principle

Which is not the area of Balanced
Adjustment ?

(1) . Good physical health
(2) Emotionally balanced
(3) Demands for attention
(4) Work efficiency

Who is the initiator of Mental Hygiene
Science ? .

(1) Headfield
(3) Johns .

(2) Ladell
{4 C.W_. Beers

Which is not guidance ?
(1) To indicate

(2) To point out

(3) To show the way
(4) Solve the problem

When person have two positive target
but he is not in position to achieve
both of them, then this conflict is
known as

(1) Approach-Approach Conflict

(2) Avoidance-Avoidance Conflict

(3) Approach-Avoidance Conflict

(4) Dual Approach-Avoidance Conflict

According to ‘cole’ pre adolescence
period for girls is

(1) 11 to 12 years.
(2) 12to 13 years

- {3) 13to 14 years

(4) 15to 16 years
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140.

141.

142.

143.

4

Match the following according to
types of Barrier of Communication
with their examples

Types of Barriers Examples
I. Physical Barriers a. Pre  work
' conditions
II. Language Barriers  b. Prejudice
I1L Psychological ¢. Unnecessary
Barriers words
IV.Background Barriers d. I1l health
Codes :
1 nm 1 1Iv
(1) a b c d
2) b ¢ d a
3) d c b a
4@ d ¢ - a b
What is not under the category of

- information processing model out of

following ?

(1) Inductive Thinking Model

(2) Inquiry Training Model

(3) Social Inquiry Training Model
(4) Concept Attainment Model

Who is the inventor of Advance
Organizer Model 7

(1) Glaser

(2) Bruner

(3) Jean Piaget
(4) David Ausubel

What is Aims and Application of
Scientific enquiry model ?

(1
2)
)

To develop inductive reasoning.
To develop mental activity.

To develop individual competency
for getting social objectives.

Logical thinking on the basis of
information collected. -

as
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7 ®iE foemdl Qﬁ FOHET F U | 144, Whenever a student interact with a
3t1:Fshar wtem & 5t @ 8 ety wEe computer which is already installed with
TRyl ¥, 9 Wiskar e & useful learning material is known as
(1) e 9 Fhem (1) Computer assisted learning
(2) wwm (2) Computer assisted teaching
(3) IR TF IFRTH (3) Computer assisted instruction
(4) S GE =R (4) Computer assisted behaviour
HEET AN ﬁngm ufom= % waow 145. Who is the inventor of Computer
FITE? . Based Teaching Model ?
(1) Frvsd (1) Flendars
2) (2) Glaser
3) (3) Carrol - _
et (4) Lorense Stuloro and Daniel Davis
(4) TR AR 7o fEer Sh
FI SRV a-e | Tafum T E 0 146. Who is not related with instructional
(1) R (2) TR technology ?
(3) TG @) TR 8; anirl (2) Glaiser
Ausube (4) Morrison
REIT Tithl & Ui B ¥ 147. Who is the exponent of software
(1) TU o= technology ?
() dtuw T (1) A.A. Lumesdan
@) TN (2) B.F. Skinner
3 ' (3) Bruner
) ~ {4) Ausubel
I T WOTTERt SUFTT 1 9% T & 2 148. Which is not the step of system
(1) W faweT approach ?
(2) woTE ST we (1) System analysis
(3) Yol e v '-‘l_\('*-[iﬁh;i (2) System design and development
¥ (3) System operation and evaluation
) O SR (4) System classification
'ﬁqmﬁﬁwwqﬁ%? 149. Which is not the basic parameter of
(1) ¥ (2) wiear system ?
3y Tehe (1) .Input (2) Process
©) ) I (3) Machine (4) Output
B W Gieam qew # e =@ 150. Which is not the characteristic of
Fo Software Technology ?
(1) Itis Soft Technology approach.
(1) T iwer debritet U ¥ | _ (2) 1t is also known as Instructional
(2) TV FRIA qhta ot e ¥ Technology.
(3) mmﬁﬁﬁmiﬁ?ﬁ!ﬁﬁ | (3) It is also known as Educational
4 Y Technology first.
(4) TS TR IR q:”iai_”:' | (4) It’s main base is Psychology.
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